Review and EQAO Practice for Chapter 4 — Equations

(2 Iy inder pictured belz#<has a volume of
00 cm*\and a height of 10 cm.

linder, » in centimetres?
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E1 The equation below can be used to convert
between temperatures in degrees Celsius, C, and
temperatures in degrees Fahrenheit, F.

If the temperature in degrees Celsius is(15)the

temperature in degrees Fahrenheit is

a less than 0. _I_b: -
b greater than 60. S
¢ between 20 and 40.
@between 40 and 60. x1 3= F-52 %
X
qQx3 — F-32

21=F-3%2
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A rectangle 1s shown below with algebraic
expressions for its length and width in
centimetres.
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Which expression represents the area of the

rectangle in cm??

a 4x+5 A= 1. w

b 8x+ 10 - (3%) ()(-}'53

c 3xX+5 N
3x? + 15x

® — 3x%*+0sSx

B} What is the solution to the equation below?

S o/
Zr—4=20
a xr=12 Z y=20+Y4
h x=16 2 y
e (=2
x=24 3%

24 x=73(

- X = —
@) x=36 75)

Strategy: do not solve using guess and check,
solve by rearranging the equation

27431 =F
S9:=- F
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EH What is the value of x in the equation

—4(2x — 1) = 367
—4
® ~ B4y =3¢
L]
8
- fx=36-YH
c _BI:T? -gx=31
d -5 x=3t x=-4|
- g -

Strategy: do not solve using guess and check,
solve by rearranging the equation
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H The square and the triangle below have the
samie area.

18 cm

12 cm

What 1s the value of n?
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B Square Removed

This rectangle has a square removed. There are algebraic expressions for the sides, in centimetres.

. the ¢ide ‘f-"j)"["
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Review and EQAO Practice for Chapter 4 — Equations PART 2

Questions fronj EQAO 2012 and older
semeanS all sides

7 are. eqval or +he Saml I
A square and an eqmlatera{ triangle are E Bob is thinking of a number. He adds 15
pictured below. to his number and finds that the result

1s four times his number.

—ex+3— —@x-1—

If the square and the triangle have the

. . - Suppose x is Bob’s number. Which
same perimeter. what 1s the value of x? PP

equation is always true?

o

a
a 15—x=%
b 4
o B b 15-x=4x
15 c x+15=~i—

QQ.FEMQHI 5qvq(‘g: ng_r":me-l-q_f‘ +ﬁqnj\2 @ x+15=4x
b l
P=Zh+lw Pz G, 45,45,
P= 2(5x+3) +2(5x43) = (7x,1)+f7x-l)+(?x-l)

The£quation@ = ypresents the
P: 7;("'73(4 7X """ l - ationship béTweer-rcdistance, d, that a
person can see in an open field, in kilometres,
and the person’s height, /4, in metres.

P=\0x+6loxd6
Ps = 20x +12

q’vqfl__/
P{quqfez P-l—f:qr\gle 0‘ 3.6 ,r!: :eigi}fm
20 xAl2 = 21x-23 LLS:&G:([:\_- b 16m

c 21Im

1243 = 2[x-20x wdivide both ¢ides Lyg-"d 5 sm

H.s = 34| b : . ;
l 5 = X | — Practice rearranging the equation: do not

P{'riqnj\t =21¥-3

One afternoon, Amy can see a distance of

Which of the following is closest to Amy’s

! l 3,6 }«é’ solve using guess and check
I..ZS:JI: ltsezszk
¥ Square both sides h=1.6

(!.25)1 = (ﬁ)’z (afe rouﬂd‘.nﬂ)



& Disc-ussion

Tyler. Raven and Deb are discussing the number of CDs they each own. They find that the
following statements are true:

* Tyler owns five more than twice the number of CDs Raven owns.
* Deb owns three times as many CDs as Tyler.

Using x to represent the number of CDs Raven owns. write an expression for the total number
of CDs the three friends own. Show your work and simplify your answer.

e X r@.prQSQf\{' ‘l“\q_ I\uanr of ¢Ds p\q\er\ ownJ

Raven - x Totol = Raven +T~j|<2..(' FDeb

Tyler — 2x 4SS = w4 2x+S + bx41s

Dol = 3&})’»9 T OX+2xH6x4THIS

= bx#lS lToh\: O\x—t?oJ

What Side?

The perimeter

2x—9

Determine the measure of each side of the triangle.

Show your work.

D Pz side | + side 2 +sidel

752 (hxaw) # (xe-) 4 (D)
TS = 3+l x4lx+H - A +3 T =
16 = 7x -2 H:X.
N_ ) !
7542 ="0x
77z 7%




Kyle isolates the variable w by performing the following steps on a test. On which step

did he make an error?

AN\,

GIVEN: P =2(I+w)

|

STEP.1: P = 2 + 2w
PaoL=2¢w & 5'5“ ckomjo_s ~hen \90u Mov @

STEP 2: P+2] =2
i " alfefS e Q_fi,vn\ Sny'\

P+2] 2w
STEP 3: =
2 2
*
' P
“ STEP 4: —2—+l=w

a) Step1 @Step 2 c) Step 3 d) Step 4

. A rectangular portrait fneasures 40 cm widé by 60 cm'in height. A frame that surrounds the
portrait is x cm in thickness. If the perimeter of the out31de of the frame is 256 cm. What is the

thickness of the frame?

P'-'- 234 2w

60 cm
o , P= 2 (Corzx)s 2 (Hor1d)
P e - St
* Lshcibote
| | L Zsél;lzo-p'-(ya—go-]b[y
"a) 56 cm @7cm c) 14cm “d) 28 cm ¥ collect like term S
26 =20049x
e | 256-200= 19X
- .. Sb=8x
56 =Xx |X=7]
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